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28B MVT Integrals
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28B MVT Integrals

Mean Value Theorem for Integrals
If fis contianus on [a,b] there exists a value ¢ on the interval (a,b) such that

[£(t)dt=f(cYb-a) .

—N—

grewn veel. ana avy ht on [aL]
: f&) = TD,L“ S"c @) dt

)= avy ht.




28B MVT Integrals

EX 2 Find the values of c that satisfy the MVT for integrals o

f(x) =x(1-x)
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EX 3 Find values of c that satisfy the MVT for
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integrals on [37/4 , «t].
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Symmetry Theorem . .
@ If fis an even function, then _If(x)dszE[f(x)dx .

@ If fis an odd function, then If(x)dx=0 :
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Mean Value Rectangle:
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